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M.A. (Final) Examination, 2022
ECONOMICS
Paper - VIII (A) VI

(Mathematical Economics)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

e —

Note —

M —

Note —

e —

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tl T YAl % ST SO0 (ST 50 ) | FAF YA 2 3F HT T
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(@Ue-) (3% : 7 x 5 = 35)
T Ofer el % S SISl TS e H foeeq @1 e #ifeg (Sw-dmE
200 I1) | FAF Y9 7 3F I T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tue-—|) (3% : 15 x 3 = 45)
o | fe=l @9 gvH & Sw ST (SW-HH 500 Is2) | YAE 9T 15 376
Ealkd
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Section—-A
(TUe-3)
. (@ Mathematical representation of Supply of Money
51 qfd w1 o e
(i1))  Hawkins-Simon Conditions
elfeh=q-TTgH oI
(ii1)) Mixed Strategy in Game theory
T g # fafsm wrifa
(iv)  Duality
<FuferEt

(v)  Leontief Production Function
fer=ite Scaea wer
(vi)  Golden Age
ot 77
(vii) Elasticity of Substitution (Mathematically)
gfqeeraT &t &= (T ' 9)
(viii) Slope of Budget Line (Mathematically)
TS W H @ (R ®9)
(ix) Natural Growth Rate
Tipfaeh ghe
(x)  Theory of Portfolio Optimisation
TR SATRaaHIe & fagm
Section-B
(@)
2. Derive linear expenditure system from Stone-Geary utility function.
RA-Ted 3T wed § 3@ =99 gonelt 1 &9 S|
Or (31gran)
Prove that if a production function is linearly homogenous and its elasticity of

P 1 : . :
substitution is © zm, then it must be C.E.S. production function.

1
1+

g Tk IARA HeH TS § SR ST qfaeao= &) &g O =
Hife foh o8 C.E.S. ScIgd %o 8|
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3. Write short note on the following :
frfafed w— dfya foooft fafew
Harris-Todaro model of migration and unemployment.
E-3er #1 AEivE qu SIS fag
Or (37r4)
Meade’s Neo-classical model of growth.
Tt o1 Ta-vfaftsa snfdes dafg fasm |
4.  Write short note on the following :
freafafea w dfya feoeft fafew
Factor price equalization theorem.

HYF-had GHHROT 0T |

Or (31
Mathematical representation of Export and Import Function.
frafg o 7T ®erl 1 TRTE 959 |
5. Explain accelerator model of Hicks.
fera & =R% Hied H TR HIGT |
Or (319ra)
Give mathematical representation of Demand for Money.
TS &I | 1 R gfaew i)
6. Given demand and supply for the Cobweb model as :
0, =60-025P, 0, =-10+0.01 P,
P =275
Find :
(1) Market Price P,
(i)  Equilibrium Price P,
(ii1)) Stability of Time Path
TR Wl fagra & =i aen gfid g 3@ g ¥

6, =60-025P, 0, =-10+ 001 P, _,
P =275
RIECAlE

(i) SR ®Ed P,
(i) ¥qer Fwa P
(iii) w¥F 99 & Teera
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Or (3191
Given the Cobb-Douglas Production Function :

Q = ALY K!¢
Find the elasticity of substitution.
-SSR fean T § ¢

Q = AL Kl

Jfawaras i @ [ SIS
Section—C
(@ues-—|)

countries.

Discuss the growth model of Solow and Kaldor with respect to developing

fommaeiia <o & Ted # el S8R FeeR & Hgfg Ated @t faeer wifs

8. Explain John Robinson’s model of Capital Accumulation.
St e & ISt T Afed hi TR HIfS |
9. Maximise by simplex method :
Z = 23x, + 28x,

Subject to the constraints :
3x; + 2x, < 58
2x; + 5x, <90
x +x,20
Toroe fafy | stfaraa ST .
Z = 23x; + 28x,
et =1 gfdersr ¥
3x, + 2x, < 58
2x; + 5x, <90
x +x,20
10. Explain the Harrod-Domar Growth Model.
- Hied F FHAET
11. Explain Solow Model at economic growth.

dien & ofde gfg Afed &l Tt Hife |
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